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Informatics Assistant Exam : 2018

Majar-e-Fakhri is situated in which of the following districts ?

(A) Jaipur (B) Bikaner
(C) * Dungarpur (D) Sawai Madhopur
TIR-T-%E) P § & frg Pt A Reg % 7
(A) AR (B) &Y
(© FTRY (D) §ar§ ATEAYY

2 Which of following launch of ISRO was rescheduled recently ?
e & ¥ 0 & A3 fam & g Ehaifa (Rivew) fear man ?
(A) GSAT-11 (B) GSAT-6 (C) GSAT-10 (D) GSAT-12

3 What is rank of Rajasthan in India according to World Bank's “Ease of doing business”
index ?
A) 2md (B) 8t (C) 4t (D) 10th
faem ¥ & &9 ofw FE AR RIW & FTAC WG F oA B b w1 Y P
(A) @I (B) & (C) (D) <&

4 In which of following year (PIC) Patent Information Centre was established in Rajasthan ?
fr & 9 fpg ad & o § = gEW = (PIC) & &I H TS ?
(A) 1998 (B) 1999 (C) 2000 (D) 2002

S What is the name of one stop solution for startups and venture capitalists launched by
Rajasthan Government ?
TRRYM §3&R B @Y 60 1q 99=ie Siged &1 99 &1 ¥, W =AY 9 dux Hfefie
% fg ¥ ?
(A) istart (B) businessstart
(C) moneystart (D) Rajasthansupport

6  During the year 2017, for promotion of IT activities and startups Digifest were organised at
which of following cities ?
(A) Kota and Udaipur (B) Kota and Jaipur
(©) Kota and Ajmer (D) Kota and Jodhpur
T¥ 2017 % AH IT AR T eRau Sl a3 & fg e &1 s P & 9
fra g & femn man ?
(A) @ T TGP (B) ®HT T WAYR
(C) & T FO (D) @ T MUGR
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i What is the name of Rajasthan govemments e-mail service which allows the users to create
their e-mail address in regional languages including hindi ?
TR FHR B $-3 F & R AW, A 6 goE F I7 $-9w wxw & wrwned
¥ g R ¥ T @ gl 3 E 7
(A) HindiBhashaMail (B) RajMail
(C) MeriBhashaMail (D) RjMail
8 Which of following government application is the source of information about Indian Mission
Abroad ?
frdfdsn- T oEl o T R A wm e R S gEn s sg ¥ ?
(A) GARV App (B) NarendraModi App
(C) MEAIndia (D) Incrediblelndia
9  National Rural Livelihood Mission (NRLM) was launched in which of following year ?
T g it s (NRLM) & &9 g5 fear w7
(A) 2014 (B) 2015 (C) 2013 (D) 2016
10 In which of following city headquarter of microsoft is situated ?
(A) Washington (B) Florida (C) New York (D) Toronto
fr % 4 fem o & Timw & gEed Rag & 7
(A) afdreT (B) wife (C) =qTih (D) 2T
11 In which Printer Ribbon is used ?
(A) Plotter (B) Laser Printer
(C) Dot Matrix Printer (D) Inkjet Printer
friafremmnsfadifftrfmam g o ¥ ?
(A) WX (B) X fy=x
(C) =iz Afgww fr=x (D) FFwz fr=x
12 What is the VVPAT ?
(A) Voter Verified Paper Audit Trail (B) Voting Verified Poll Auditing Trail
(C) Voter Verifiable Paper Audit Trail (D) None of these
VVPAT &1 & ?
(A) drex AmEs T s dm (B) difen Afwrss ur srfsfom Zm
(C) drex IRHATEE 9T feT o (D) T & ®% T8
36] i 3 [ PTO.
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13 What is ‘Laxmi’ with reference to Reserve Bank of India ?

(A) Crypto currency (B) Software

(C) Locker facility (D) New type of Savings Account
ford ¥ o e & Tt § W mE ?

A) Frt st (B) WiwRAUT

(C) e gfawn (D) 4T ¥4 @l

14 'Divyang Sarathi' is
(A) Mobile App (B) Mobile Ambulance

(C) Internet portal (D) Rehabilitation centre
R aredl” ¥

(A) HEEw T (B) wHramEw TEwE

(C) TR e (D) YT &=

15  Which satellite has been launched by ISRO using PSLVC-39 from Sriharikota ?
ISRO /T PSLVC-39 & #ez ¥ & eR&HT & Fan Iuws oe1 mrd ?
(A) IRNSS - IG (B) IRNSS - |H
(C) IRNSS - 11 (D) IRNSS - 1J

16 The Social ideals of Mahatma Gandhi were first put forth in
(A) Hind Swaraj
(B) The Story of My Experiments with Truth - An Autobiography
(C) History of the Satyagraha in South Africa
(D) The Bhagvad Gita According to Gandhi

qerEr WYY & GriTe omest gavem fEER weifim feT e & ?
A) = T

(B) ae’rﬁmm%mﬂﬁﬁzvﬁgga—qwm‘ﬁ
(C) ) ITh T FATUE I7 TISY M

(D) T WEg N FHEN g e

17 Ajanta Caves are connected with which of the following ?

(A) Ramayana (B) Mahabharata

(C) Jataka Stories (D) Panchtantra Stories
S @ T Pt ¥ 3 Pred gt ¥ 7

(A) I (B) we™A

(C) s Hurd (D) e FEITal
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18 Who had broken the AB de villier's record to become the fastest to score 8000 ODI run ?
(A) Virat Kohli (B) Hashim Amla (C) David Wamer (D) Steve Smith
u & & fafrad & @@ o9 8000 ODI T 1 &1 e frg drer ?
(A) Praz mree (B) ®idW emen (C) ¥ A (D) ¥ Ray
19  Which of the following books is not written by Munshi Premchand ?
(A) Gaban (B) Godan (C) The Guide (D) Mansarovar
Pretferfas & ¥ R5a qere % Tart st e @ ¥ 2
(A) TEH (B) R (C) =T e (D) AEEX
20 National income ignores :
(A) Sales of a Firm (B) Salary of employees
(C) Exports of the IT sector (D) Sale of land
g s ¥ feeet afnfea T few s € ?
(A) & wd @ fama (B) @@ &1 I
(C) qo wafel &3 & Frafa (D) M @ fama
21  Which metro has become the world's first ever metro system to get green certification ?
(A) Jaipur Metro (B) Delhi Metro (C) Chennai Metro (D) Mumbai Metro
M aféfrde ura & aen fasT & gaw 3 qomed & -
(A) SEYL T (B) faweht a3 (€) ¥=% AR (D)- g A%
22  Booting instructions are stored inside :
(A) Floppy disk (B) ROM
(C©) RAM (D) Operating system
R e wufea & ¥ -
(A) wq &= (B) W
C) W (D) afaefen fyew
23  The software program which is compiled legally and is usually used free is referred as
(A) Shareware (B) Fimnmware (C) Mindware (D) Public Domain
Hiozay g R s AT ax geterd fear o w@ar & ot oo at Brgew swam e
T & 9 FHE A & |
(A) FEAT (B) wHaX (C) wEsa (D) ufE® e
36] whu 5 [P.TO.
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24 Data Processing cycle consists of :

(A) Input and output cycle (B) Input, output and processing cycle
(C) Output and processing cycle (D) Output cycle only
T[T graRkm 9% e e ¥ 7
(A) TYZ 9 ASTYZ 9% (B) ¥7YZ, YT T WART wh
(C) ¥=egz T WAk 9% (D) ¥TA BT %
\
‘ 25 is an inference drawn from the processed data and information.
‘ (A) Information set (B) Knowledge (C) Raw data (D) Statistical data
; M ST IFARNIH I N Pl Prped 8 _ %1
: (A) TERHE ¥ (B) e ©) ¥ 3@ (D) RRfEHw ¥

26 A transaction file stores :

(A) Data that rarely changes (B) Data that never changes
(C) Data that frequently changes (D) Data that is erroneous
T& TR HEd &K HT §

(A) s/ T R & FN Lo B (B) s/ &t HW & ™M
(C) =TT A T qFoA (D) e frad T 8@

27 MS-Access database is saved as extension.

TH T TaRE ¥ 3299 @ fhg W@HeHH & Wi 49 & ¢ 7
(A) .msa (B) .dbm (C©) .mdb (D) .mss

28 PDF is an acronym for :

(A) Printable document format (B) Pdrtable document format
(C) Printable data format (D) Portable data format

PDF ___ & @g&q ¥ |

(A) BirrEe sTegdz wie (B) urREw TTEgET B

(C) frewm =1 wie (D) WREw =T Wi

29 Layer 1 of the Open Systems Interconnection (OSI) model is,
(A) Physical Layer (B) Link Layer (C) Transport Layer (D) Network Layer
N e T (sh @@ o) wiEw @t vEe @i §,
(A) Tefsa dar (B) fors @aw (C) M gt (D) Aq% @4X

36] wfm 6 [P.T.O.
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30  Which of the following was the first commercial web browser ?
(A) Mosaic (B) Mozilla (C) Netscape (D) Internet Explorer
PrefafEa & ¥ S99 v FEEias 3§ FoK § 7
(A) AE B) =i (C) =&y (D) ¥ TH@IT
31 Size of IPV6 address is 3
(A) 264 bits (B) 128 bits (C) 64 bits (D) 32 bits
IPV6 U2Y &1 G BT & :
(A) 264 fazm (B) 128 fazw (C) 64 f&e™m (D) 32 fazwm
32  Which protocol is used between e-mail servers ?
(A) FTP (B) MTMP
e HITLP (D) SMTP
A9 §IX & A G VDA W X omen ¥ ?
(A) THEA G (FTP) (B) @A wWEH MTMP)
(C) wagddd (HTTP) (D) TET A G (SMTP)
33 The shows all the web sites and pages that we have visited earlier.
(A) History (B) Taskbar
(C) Status bar (D) Browser list
e & ¥ AW T IqWET TF A9 U H 9 ¥
(A) &) (History) (B) ZrmaTt (Taskbar)
(C) I ;X (Status bar) (D) FRIX foe (Browser list)
34 An organization that provides services for accessing, using, or participating in the Internet
is called the,
(A) Network Hub (B) Internet Consortium
(C) Internet Service Provider (D) Telecom Consortium
TH T A AT QIS B WG F TN HE & g 7 T 9 A g 7 feg
HYE HA & _ FEE ¥ |
(A) 3% &F (B) FzTZ sigrieay
(©) ¥Tor wifa s (D) Aftrrm wiERfea
36) wfm 7 [P.TO.
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35

'Ethernet’ is another name of

(A) Local Area Network (LAN) (B) Metropolitan Area Network (MAN)
(C) Wide Area Network (WAN) (D) Piconet Area Network (PAN)
3y fhaae oem AW ¥ ? |
(A) WEa oRa ¥Zad (LAN) (B) vz i Jzad (MAN)
(C) darge wfrar 3zad (WAN) (D) Rz i 3zad (PAN)
36 The normal speed of Ethemet is
(A) 64 kbps (B) 64 Mbps (C) 10 kbps (D) 10 Mbps
IYTAZ H IS T B ®
(A) 64 Hdday (B) 64 Tgddieg  (C) 10 HEnduw (D) 10 THETy
37 The stylesheet file will not be loaded by the browser if you omit
afx amg A B & ¥ Al wEesiie wida seer Za @ @ @ e |
(A) REL (B) STYLE (C) BODY (D) HTML
38 Which of the following is a container tag ?
T AR HTC M E 7
(A) <SELECT> (B) <VALUE> (C) <INPUT> (D) <BODY>
39  Which attribute in Anchor Tag <A> is used to show the hyperlink ?
T T <A> ¥ TRUEE B REe & o s wdiegz am § foa @ € ?
(A) HREF (B) SRC (C) LINK (D) HYPERLINK
40 A is a small program embedded inside a GIF (Graphics Interchange Format)
image.
(A) Web bug (B) Cookie
(C) Spyware application (D) Spam
TH . A TH. (W XA wNe) W W i B W & #Ea & -
(A) ¥ @ (B) @
(C) WTEAYT THTHIH (D) wH
41 Saving a file from internet to computer is known as :
(A) Downloading (B) Uploading (C) Storing (D) Weblinking
TR ¥ Uh B & YT T 99 BT HeEamm & ¢
(A) ST (B) SraenfEw (c) w|fm (D) St
36] wim 8 [P.T.O.

Suraku Academy | Jaipur | 9782120102



42

A Uniform Resource Locator (URL) is a reference to a,

(A) Computer Resource

(B) Web Resource that specifies its location on a computer network and a mechanism for
retrieving it

(C) Printer on the network

(D) Storage server on the network

g frard @kt Frefafea § @ fega o 32

(A) w=T fad &

(B) 33 Rurd &1 it THH FugeX Tk W WH T I@ 9% g9t & fou a7 shefaa
(specify) &t &

(C) 3% | Br=x =

(D) 2% T &R §ET &

43  Which phase comes after execution in electronic market trade cycle ?

(A) Pre-sale (B) After-sale (C) Settlement (D) Negotiate

TRTS THe I3 TG A UIgyE & &15 HrAgl 9 o1 & 7

(A) @ &« (B) MR & (C) dezwmz (D) TR
44  Which is not an example of G2C services ?

(A) e-visa (B) e-wansportation

(C) Digital police portal (D) e-bay.com

B | G2C darai Hr sarewor TE ¥ ?

(A) 3-drm (B) 3Ty

(C) fefwew gfma dréw (D) ¥-¥@m
45 EFT stands for

(A) Easy For Taxes (B) Easy Fund Transfer

(C) Electronic Fund Transfer (D) Electronic Financial Transaction

T A EATE

(A) T BR 2T (B) T ® ZEET

(C) ARG &S TEHT (D) FRTS HEATIEA ZAH
46 A malicious program that does not replicate automatically is,

(A) Trojan horse (B) Worm (C) Zombie (D) Virus

TF FHEA R ¥ T T WA S A9 Y ¥ gAgh T8 &

(A) A Ed (B) = (C) =l (D) ITE
36] wfu 9 [PTO.
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47 XLL definition is used along with XML to specify :
(A) The data types of the contents of XML document
(B) The structure of XML document
(C) The presentation of XML document
(D) The links with other documents
XLL definition Iftefgq & & fg XML & & wam fopan s ®
(A) XML 3z & H2Z H TATRY
(B) XML STegez & HT&
(C) XML =iz @1 wasi
(D) TWX TRACH & W E
48 Which of the following is not a search engine ?
(A) Yahoo (B) Bingo (C) Google (D) Windows
fredfaasrmmmad Sm it ?
(A) T (B) fam (C) Tw™ (D) fa==
49 Search engine which takes input from a user and simultaneously send out queries to
third party search engines for results, is :
(A) Advance Search Engine (B) Meta Search Engine
(C) Search tool (D) Boolean Search Engine
Y 99 W 3AYZ AR THEE w9 F Al 9t # g & fg @ v s d, ¥
(A) TEErw ¥4 9 (B) #1 wd o
(C) wd gw (D) T wd o
50 The search results are generally presented in a line of results often referred as :
(A) Tag List (B) Search Engine Result Pages
(C) Search Engine Pages (D) Category List
Te oo gma: it @Ea ¥ 2o o ¥, R wed ¥
(A) & fae (B) w4 &= e dw
(C) wd &= 9= (D) FHET *e
S1  Which of the following is not a recovery technique ?
(A) Deferred update (B) Immediate update
(C) Two-phase commit (D) Recovery management
= & 4 I REal aode T E 7
(A) THE amee (B) iz ez
(C) Z-%g =iz (D) frad dawme
36) =i 10 [PTO.
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52

A statement that is executed automatically by the system as a side effect of a
modification to the database is known as :

(A) Assertion (B) Triggers

(C) Referential constraints (D) Insertion

T RZAZ A U oMY SRy & fee) aisfebee & &reor fefa ofar &, Feeran €
(A) TEdA (B) frma

(C) THITmd Hae= (D) ==

53 An integrai part of database that can restore database to previous state before failure
is called :
(A) Recovery Scheme (B) Backup Scheme
(C) Restoring Scheme (D) Transaction Scheme
foret sreram @1 srfifeT s Y fed SR & e ot Rufy ¥ et s &, weemar &
(A) Tpad @m (B) %3 @
(C) =t @m (D) a9y @
S4 Drawing, photographs. movies and simulation comes under the category of :
(A) Animation (B) Image (C) Graphics (D) Text
T, wrE, gd e R N I F siata e ¥
(A) TR (B) T (C) wfthrd (D) &
55 Vector and are the two types of computer graphics.
(A) Scalar (B) Sector (C) Rector (D) Raster
ART T T THRN & HYT Tihag ¥ |
(A) @& (aRkg) (B) IRX (C) IRT (D) TR
56 The ratio of vertical points to horizontal points and vice-versa is called
(A) Bitmap ratio (B) Aspect ratio
(C) Pointer ratio (D) Resolution ratio
W fagall & Afew figall & omum ot 9% faadia & e o @
(A) fredy s (B) ST 9
(C) % Irgur (D) HEHe9 I
36] wfu 11 [PT.O.
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57 is a technology that allows brick and mortar retail stores to send messages
directly to the smart phones of their customers by.
(A) Beacons (B) Bitcoin
(C) Business CRM (D) Big Data
T& O dale o 32 A T gq WY (brick and mortar retail stores) & 34X AEH &
R B T EY W9 49 @ ogEfy 3R ¥ 9w &,
(A) S (B) e
(C) famm dramo. (D) f&m =ver

58 The facility allows customers to purchase the items they want online, and
pick them up from their physical store, merging the convenience of e-commerce with the
benefits of physical retail outlets.
(A) Click and Send (B) Click and Purchase
(C) Click and Reserve (D) Click and Collect
e g S swteel #Y, @ FEge S G GHRAT GEd € IR AAARA @URA I IT TEGA
7 M @R (@FE) ¥ ¥ T B oy 30 ¥, A 3 S A ghen @ e gea
ZEHH & W B T HEH qE e R
(A) s T ¥ (B) e ToE g
©) fos e ford (D) fe Toe wow

59 Use of internet to connect a wide variety of devices, machines and sensors for empowering
brick and mortar stores by giving them the same access to data that online stores have is a
facility falls under which of the following technologies ?
(A) Artificial Intelligence (B) Deep Leaming
(C) Machine Learning (D) Internet of Thing
fof= gt & fEargd, afiel ol S0 & =z a0 Meat s T AR (fT T Ten)
Y B T8 31 W A O F IS T T8 g sy ) g Brefefes aate &
Jed N T |
(A) fHfire hg (B) @9 @
(C) = wfm (D) T % P

60 Which of the following is not a Java Code editor ?
(A) MS Word (B) Netbeans (C) Edit+ (D) Notepad
Prfeftaa & § Fren T #E qRRex @ &7
(A) THUug I¥ (B) 3= (C) uf¥z+ (Edit+) (D) 9

36] wfm 12 [ P.T.O.
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61 Which is not a feature of a GUI that makes leaming a program easy for users ?
(A) WYSIWYG formatting (B) Dialog boxes
(C) Detailed key strokes and commands (D) Icons
T ¥ B @ GUI & fadwar 78 ¥ o Ivarreatell & foe uw W @ o
@R ?
(A) WYSIWYG wafen (B) STg@m I
(C) fogga FN (key) & 3l AR (D) IEEHA
62  Which property in Visual Basic determines whether a control is displayed to the user ?
(A) Show (B) Display
(C) \Visible (D) Enabled
e ¥fts & 9 @ Wil g Prifa s ¥ fF Ssaredlst @t s Wi fean s
tar a8l ?
(A) 9 (show) (B) f&@= (display)
(C) fafgssr (visible) (D) TAWS (enabled)
63 audio/video refers to on-demand requests for compressed audio/video files.
(A) Streaming stored (B) Streaming Live
(C) Interactive (D) Mixing
FrsAfEn Tdifsa sifeqAtn wEat & foe a-femrs agow & w<fiaa
Har ¥
(A) St <= (B) i awa
(C) e (D) Pt
64 A buffer is required for real-time traffic.
(A) reordering (B) playback
(C) sorting (D) broadcasting
IS GG (real-time) AR & foQ IHT AT ¥
(A) gt (fametan) (B) <%
(C) g (irem) (D) WERW (sTEaHRe)
65 A changes the format of a high-bandwidth video signal to a lower quality narrow-
bandwidth signal.
(A) Sequence number (B) Timestamp
(C) Translator (D) Segment
1) wF I Fefagy IR e & grew 1 &9 e g G defagy
e & <<@ v ¥
(A) 9 @& (B) IHRM
(C) THAX (D) Tz
36] wfu 13 [P.TO.

Suraku Academy | Jaipur | 9782120102



66

(A) 210 (B) 220 (©) 240 (D) 280
67 In a certain code language "Great solution turn plan” is written "&T5 #N8 @N4 %N4".
Then "Tamilnadu" written in that code
UH @ $HZ ST A “Great solution turn plan” & "&T5 #N8 @N4 %N4" foan e [
T HZ AW F "Tamilnadu” & fer@r smam
(A) #u9 (B) &T9 © @uU9 D) @T9
68 Choose the correct number for the given series
gt & T g€t T & gara PR
30, 90, 182, 306, 462, 2
(A) 650 (B) 678 (C) 615 (D) 580
69 How many parallelograms are there in the following figure ?
fr oty & fhem R WgqE # °
(A) 12 (B) 24 (©) 30 (D) 60
70  Which folk drama of Rajasthan is called "Meru Natya" ?
(A) Bhawai (B) Khayal (C) Gavari (D) Tamasha
TRY & HH-91 @ A1ed ‘86 AT’ & AW § A A ¥
(A) warg (B) @& (C) el (D) =
71  According to recent announcements, new free of cost facility provided to heart patients in
Rajasthan is -
(A) Angiography (B) Heart Transplant
(C) Chamber cleaning (D) Artery Replacement
T & H B TR Ava & FTER eI & fie SE-d 1 g gl @ e e
T ¥ ?
(A) PR (B) %ET wTHer
(C) =% §BE (D) o TERITTA
36] wfu ‘ 14 [PT.O.
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Frfafea gEer & fagqa s Fw & ?
0, 6, 24, 60, 120, 2, 336
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72  Which pair among the following is incorrectly matched ?

Prajamandal Founder
(A) Sirohi Gokul bhai Bhatt
(B) Karouli Trilokchand Mathur
(C) Jaisalmer Meethalal Vyas
(D) Alwar Ladaram Vyas
Prerfafge ¥ ¥ A g9 @8 gk 8§

TATHOSH TRAIF
(A) Rod Mo W1g W
(B) @i Presas 7rgT
(C) et AreTaT e
(D) JI®a} WRH =™

73  Which of the following sector is related to Meera Puraskar ?

(A) Literature (B) Singing (C) Painting (D) Handicraft
e & & d\an &7 90 rer | a7
(A) uftm (B) TR (C) fammr (D) wfiTeq

74 Where every vear the soils are rejuvenated naturally, the region is known as -
(A) Bhabar region (B) Tarai region (C) Bangar region (D) Khadar region
wel iy wefte w7 & BEE & e B €, 9 &9 -
(A) 9TET W (B) TS WA (C) I WA (D) @RI WA

75 ‘Hoorda Conference’ was organized in which year ?
(A) 1732 AD. (B) 1733 AD. (C) 1734 AD. (D) 1735 AD.
FE g & A e A & few ot fear man ?

A) 17325 (B) 1733 & (C) 1734 & (D) 1735 §&

76 Incised cut ear and ‘Jata’ are identification mark of which of the following ?

(A) Gurjar (B) Oghar Jogi (C) Rawal Jogi (D) Meena
H Y FF qa T e § ¥ fawe fitwars wde e ¥ 7
(A) TR (B) afrgs (C) Taw &M (D)

77 From 1% Jan.,, 2018 what will be the new loan interest rate for farmers, charged by
co-operative land development banks ?

TH T4 2018 ¥ Feawrd 4y fywm & 0 A @ qge 9 9 T OFO =@ 3T

FE?
(A) 6.5% (B) 6.7% (C) 5.5% (D) 5.7%
36] wfu 15 . [PT.O.
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78 In Rajasthan, for WPI, which year is taken as the base vear ?
T § WPI & foe smemt ad forg ad &1 foran s @ 7
(A) 1999-2000 (B) 1995-1996 (C) 2004-2005 (D) 2008-2009
79 Kachnar Choudhary is associated with which of the following games ?
(A) Shot Put (B) Badminton (C) Swimming (D) 100 m race
FEM AT F sy g am a ¥ ?
(A) iz g2 (B) F=fie (C) I (D) 100 #. g
80 Which one of the following is called "Hindu Olympus" by Col. James Todd ?
(A) Toddgarh (B) Plateau of Uparmal
(C) Mount Abu (D) North-Western desert
Hia W 2rE A R eww 5y ww ¥ 7
(A) T=e (B) FUIHE &N GBTO W
(C) ¥RwE g (D) TaT - gided TRawW
81 Peepalpanna is —
(A) Women's head ornament (B) Women's ear ornament
(C) Women's neck ornament (D) Women's waist jewelry
o= & -
(A) foai & R @ ampw (B) f&agi & &= &1 smmw
(C) @i & T & smmw (D) fEal & FHT & amqwwr
82 When was the Rajasthan State Road Transport Corporation established ?
TR T 98 qiges Frm &) wen &9 g8 7
(A) 1979 (B) 1964 (C) 1961 (D) 1971
83  Which of the following district is not directly related to ‘Mahi high level canal project’ for
pure potable water ?
(A) Rajsamand (B) Chittorgarh (C) Udaipur (D) Dungarpur
71 % § I faen 9 21 faw I JE vaww Teee § TaE ®9 9 et T8 R 7
(A) ToER= (B) feireme (©) @R (D) ML
84 According to new budget, what is the GST rate for slabs and tiles in Rajasthan ?
T I & HAIER (Y § WY 9 TZ69 G @7 aret GST & g 71 & 7
(A) 18% (B) 20% (C) 28% (D) 32%
36] whe 16 [ PTO.
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A question and two statements I and II are given below it. You have to decide whether the
data provided in the statements are sufficient to answer the question.

What will be the result of Priya's Secondary Board Examination this year ?
Statement : |

I : This year Secondary Board Examination question papers were very easy.

I : Almost all the students appeared in the Secondary Board Examination succeed.
(A) Only statement I is sufficient.

(B) Only statement II is sufficient.

(C) Both statements I and II are necessary.

(D) Both statements I and II are not sufficient.

T G99 a1 T %99 396 4 RRu 1 ¥ | v g% 9g 0 ¢ e waE ¥ e g aew
YA WM I A S o qatq ¥ |

g a¥ frar & onafys 2 qhan & 9o w®&@v g ?

®Y| ¢

I: 39 9y gnafys 9% gl & 957 95 95 O3 & |

I1: =mafts @ vhear ¥ afEfa o9 ao sty fendl s g |
(A) ¥a@ g4 [ 7ol ¥ |

(B) Faw &9 1l qafa ¥ |

(C) A w7 | qur 11 HETs & |

(D) 2 By | qun 1l voia T8 ¥ |

The angle subtended by sector related to military at the centre is -

A ¥ gefte @ve E H qX Al & ¥

Others / =
" %
Veteran / ¥afved 6%

Military / &1 Interest on Debt / =<1 9%
59%
International / F<IT 9%

(A) 210.2° (B) 212.4° (©) 214.6° (D) 218.9°

How many numbers between 100 and 300 begin or end with 2 ?
100 3T 300 % &g fpat d@ad 2 & WY ION 1 FEG A ¥ ?
(A) 100 (B) 110 (C) 120 (D) 140

36] wfu 17 : [PT.O.
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In which year was Kartik Bom ?
(i) Kartik is 6 years older than Mayur.
(ii) Mayur's brother was born in 1982.

(i) Kartik's brother is 2 years younger than Mayur's brother, who was eight years younger
than Mayur.

How many of above are enough to find out the birth year of Kartik ?

Fids &1 9 e ad gaw ? 9% gar wA & fog e A @ fRa wm v ¥ 2
(i) afEAgEE 6ad T ¥ |

(i) #gT & 9% 1982 F &= 41 |

(i) RE MW AR F I 2, AR a s s ¥ |

A) (@) (B) (D), (iii) (C) (i), (iid) (D) (). (i), (iii)

The given figure shows the food liking of 1080 people of a city.
A ™ e & @ e & 1080 @ & @M B TE< H F900A T X

Dosa 120‘°
s %ahapatles

The percent of the people who like Idli is
W A TSN IR B € IR W ¥ -

(A) 12.5% (B) 12.0% ©) 15% (D) 10%
90 If 6th February 2018 fall on Tuesday then what will be the day on 6th February 2020 ?
(A) Monday (B) Tuesday (C) Wednesday (D) Thursday
R 6 BT 2018 B TETAR ¥ A 6 HIEA 2020 W HF a1 KA @m ?
(A) T¥ER (B) WTeaER (C) ggarr (D) TFER
91 In the given figure going from A to B only on the lines and taking the least length of path,
in how many ways can reach ?
fR @ o & Rk Y@el W Hw @ 9 g0 & 93 T A € B 7% fhad yER @ Ug9 w&d
1247,
A
B
(A) 2 (B) 4 € 6 (D) 8
36] =i 18 [P.TO.
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1000 candidates appeared in an examination comprising tests in English, History and Science.
The Venn diagram gives the number of candidate who failed in different tests. What is the
percentage of candidates who failed in any two subjects ?

3N, stverE qar fae & gees Tdar F 1000 whardt soRea g2 sre-smem g
A EHe ThAfEa & gEm a9 om@ Fra A 1 ) R @ vt ¥ ormwe qhatiay &
wfqera foa &7

English History

T\

Science I
(A) 0.9% B) 9% (C) 0.09% (D) 90%

A committee of three persons is to be formed out of seven persons A, B, C, D, E, F and G
according to the following conditions.

(i) Either A or C or both must be chosen

(ii)) If A or B is chosen. the other must also be chosen.

(iii) C and D can't be chosen together

If D is chosen, which of the following could also be chosen ?

Prefaftga afqe & st @ =&feal A, B, C. D, E, Faar G & 9 89 =ifya) & ua aify
&1 ffer s %

(i) A ¥ C F¥en A & 9499 9T T & |

(i) R Aar B & w97 B ¥ o WY B 999 AT HETE |

(iii) CdN D & TH T TG & & FHAT & |

DT fpmr Mt e P A @ iR e agm P e asam & 7

(A) E,F B) C,E (©) A, G (D) A, B

From the given words, select the word which can not be formed using the letters of the
given word :

FrfafEs faaed & @ 7e s give o R ™ s & el @ oy & T T
W A

TOKENISM

(A) STONE (B) NOISE (C) EMITS (D) NAMES

36] wfu 19 [PT.O.
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A is 5 ranks ahead of B in a class of 46 students. If B's rank is twelth from the last,
what is A's rank from the start ?

468 DN FTXFADNIGEBASAME IR BH ¥ afam o3 @ 120 & o wrow
q AN Y T EM ?

(A) 28 (B) 29 (©) 30 (D) 31

96 Two positions of a dice are shown below. What will be the number at the bottom if 5 is at
the top ?
R & TR A A Rufyal Reg = ¢ 1ol w5 ¥ & AR s @ e a2
(A) 2 (B) 3 (C) 4 D) 6

97 If"INDIA" is coded as "KQIPK" in a code language. How is "JAPAN" written in that code?
& < W9 & "INDIA" &t "KQIPK" ferar Siran & | 36 g2 w1 ® "JAPAN" &Y feran s ?
(A) LCRCP (B) LDUHX (C) LDTFT (D) LDUFT

98  Pointing to an old man, Vijay said, "His son is my son's Uncle". How is old man related to
Vijay ?
(A) Brother (B) Uncle (C) Father (D) Grand Father
TF & & AT 30 HW- 3 fawa 7 81 f6 @ g7 A g7 F 9 ¥ wanen g€ @t
foora & & wRm 3 ?
(A) W3 (B) €mn (C) (D) =T

99 Find the missing number from the given option :
fR ™ e ¥ ¥ g9 den T A

4 12
? 32

(A) 1 (B) 52 € 70 (D) 104

36) whe 20 [ P.T.O.
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36]

Text's encryption is its

(A) Compression

(B) Expansion

(C) Scrambling to preserve its security
(D) Hashing

I TARGH ST &N 4

(A) HWIH

(B) wFEdH

(C) =R s IHa FLar &g (@ A Fah

(D) i

One commonly used public-key cryptography method is the algorithm.

(A) RSS (B) RAS (C) RSA (D) RAA

T GG GEAE - o BRed fify @ ger TENER ¥ | |
(A) IF.TH.US. (B) IR.u.Td. (C) 9mtug.u. (D) smruu.

Which is not the characteristic of good algorithm ?

(A) Finite (B) Unambiguous (C) Well defined (D) Unordered

P FB TENMER A fEdwar & ¥ ?

(A) WA (B) smuflapem (C) 9« fewm= (D) oreiTEs

Which of the following is a tool to diagrammatically depict the logic of a computer program ?
(A) Pseudocode (B) Algorithm (C) Flowchart (D) Source Code
frefafaa & @ PHE G 06 FFgET TAH & 96 B @S $ Arag @ fafa swnd e
A) B (B) uwfitzm (C) WA (D) T HE

Which structure allows the program to make a choice between two alternate paths depending
upon the condition ?

(A) Sequence (B) Selection (C) Iteration (D) Logic

Rafy & qEm @ Iafeas wmi ¥ @ fpefl wa feew @t g & foe feme v e
W ¥ ?

(A) TTHH (B) fmtas (C) T (D) WS
NAT stands for

(A) Network Address Translation (B) Network Address Transformation
(C) Network Access Translation (D) Network Access Transformation
NAT & g % -

(A) AT T THAIH (B) Iz WH THEHIH

(C) AZq% TTHE LA (D) ATTE wFHY ZAHHIH

o 21 [P.T.O.
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36 ]

What is the use of firewall ?

(A) Filters the packets that come from internet

(B) Filters the packets that come from internet to intranet
(C) Filters the packets transmitted to internet

(D) Ensure the packets faster traffic for fast e-commerce
HOLETE B T ITEG ¥ 7

(A) ITEZ T AR 9 IpZH & fhezx wT

(B) IR ¥ IFMZ W T I IHgq & fheet &
(C) ITEZ T IH Tt IHzw & fheet FT

(D) A9 3-Fmd & foq Yhze & N g grfas s

A network security system that protects network resources by filtering messages at the
application layer is,

(A) Packet Filter Firewall (B) Proxy Firewall

(C) Stateful inspection Firewall (D) Next-Gen Firewall

% 12ad R e ot 6 Yead FarA & gran ofwese aax o 9w & Reeefon
* I &Y ¥ 9% &

(A) ke fhezt wEEE (B) Wl HETE

(C) WP TR GEEMW (D) AT BEE

In object oriented programming, an object is an instance of :

(A) Class (B) State (C) Behaviour (D) Message
aTssige T=s TR ¥ Us sffetae &1 0% 39 (qer) ¥ |

(A) wE (B) ®z (©) feefrm (D) ¥RS
Class members of a class in C++ program are by default

(A) Public (B) Protected (C) Private (D) Global
C++ W # fFR T8 (class) F F9 A€ IERHe (REe =7 @) 8 & :
(A) qiEs (B) WRFRE (C) wrEae (D) oW

An object-oriented programming concept that refers to the ability of a variable, function, or
object to take on multiple forms is :

(A) Inheritance (B) Hierarchy (C) Polymorphism (D) State Transition
HTeAF NNT=S Wi Y 98 rguren o 6 ANRGTW, H™ a1 IfSAR @l B3 ®Y A
HA B A YTH B T

(A) TR (B) EET@! (C) vuifwwITHS (D) Bz ZifAs=

== 22 [P.TO.
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111 The declaration int arr [2][5]; will allocate bytes.
int arr [2)[5); Rets= g Efeq @ ¥ |
(A) 20 (B) 10 ©) 40 (D) 2

112 Which is not a data type of C ?
I T TN CH TEH X ?
(A) float (B) int (C) char (D) class

113 The following two C language statements are equivalent to, n = *&q. These statements are

C daw ¥ Prafef@a @t Re¥e n=*&q % qoaa ¢ 1 3@ Re¥e &

p = &q;
n= * p;

which are further equivalent to,

=t & % TS & |

(A) n=p B) p=q (C©) n=p*q (D) n=gq
114 error arises due to incorrect use of syntax.

(A) Compile time error (B) Linking error

(C) Run time error (D) Input error

TR T e & wam & e ¥

(A) H9EW ITRT TR (B) fdfem T

(C) @ o™ T (D) T TR
115 COBOL and Pascal are examples of programming languages.

(A) Object oriented (B) Scripting

(C) Structured (D) Object based

COBOL 7 Pascal TR A & IRTEI E |

(A) SarRe sifrae (B) femfen

(C) wags (D) AR IW
116 In conversion of HLL to machine language the syntax analysis part is called as

(A) Parsing (B) Lexical analysis

(C) Semantic analysis (D) Linking

HLL & 309 9 &g (FHa9q) § R wfefie (@ @ fawwn) swm &

HE o &

(A) wf&m (B) wfrrpe TaTffaE

(C) fmfes warfafem (D) it
36] wfu 23 [PT.O.
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117 The memory management scheme that allows the processes to be stored non-contiguously

in memory :

(A) Spooling (B) Swapping (C) Paging (D) Relocation
Iz G 988w g S WY 6 gl § g w9 8 gufed a @ orgefy @ €
(A) wferm (B) aftm (C) ufsm (D) TsrhI=

118 Ctrl + right arrow is used to

(A) Move the cursor one word right

(B) Move the cursor at the end of line

(C) Move the éursor at the end of document
(D) Move the cursor one paragraph down
Ctrl + right arrow fFg & & emar & 7

(A) T & 6 9= 3@ @ I F fog

(B) HET & WG & 3 ¥ & 9 & fow
(€) TR I F 3 F & 7 ¥ e
(D) HE & TH WAH A § T F foq

119 Auto correct was originally designed to replace words as you type.

(A) short. repetitive (B) grammatically incorrect
(C) misspelled (D) duplicate

HHeRe qaey § f& g & sao+ & g g man mn ar ?

(A) B, E-4X JR I (B) =S w9 § TG
(C) Td F (D) §uA

120 Which feature of word enables a person to send same letters to different persons ?

(A) Macros (B) Mail Merge (C) Template (D) Thesaurus

TE A IR @ gl e AR F S-S @ F §HE 97 N9 F T g9 § 7

(A) IHE (B) #& udt (C) mmie (D) drar (@)
121 We cannot hide a | in MS Excel.

(A) Row (B) Column (C) Sheet (D) Range

MS Excel ¥ &9 fawr (e1ds) & T@a |

(A) T (i) (B) e (C) s (D) =
36] e 24 [PT.O.
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Which of the following chart types will be the most appropriate to plot the ups and downs
and track the progress of the stock market on a daily basis ?

(A) Column Chart (B) Row Chart (C) Line Chart (D) Pie Chart
PrefafEa et (@) & vard & ¥ 5 e @ 9 e 'Y § SR I $ San-
Tera g Wty B 29 & g Iugw ¥ ?

(A) e |1 (B) U =R (C) WA = (D) 9 @

If the formula = If (BS > 100, 'A', 'A*") is entered in the cell C5, and the cell B5 at different
instances contains the values 75, 150 and 100, then cell C5 will have the following values
respectively.

gx = If (BS > 100, ‘A", 'A*) 3R &« C5 ® foran & 9 & BS & o™ o@m &@ 9T 75,
150 9 100 3% W &, & @@ C5 # wmay: Pr=afafaa 3sg 8
(A) A* A. A* (B) A, A* A (C) A% A A (D) A*, A* A*

Which of the following is not a part of slide design ?

(A) Colour scheme (B) Animation scheme

(C) Design template (D) Slide Layout

FAI I & wzs o o e T} 2

(A) T e (B) TAMSH demn

(C) fagw Tmmie (D) WIES W3S

Objects on the slide that hold text are called :

(A) Placeholders (B) Auto layout

(C) Textholders (D) Objectholders

T W Y sy @ dae Tad ¥ wEe i

(A) w@ersd (Placeholders) (B) @i WIS (Auto layout)
(C) 2F=E=d (Textholders) (D) JTsrErsd (Objectholders)
Transition effects are applied to

(A) Text (B) Slides

(C) Images (D) Any object on slide

ZifA9e Thae FRmamed ¥

(A) T (B) W

(©) = (D) Wz & ) ofae ¥

In MS Access images can be set to ___ data type.

(A) Long (B) Ole (C) Hyperlink (D) Memo
MS Access ¥ A9 (Bfaay) &t & 79 (YHR) W q2 far 1 wwman )
(A) @ (B) SfTws (C) wrETe® (D) =

ok 25 [P.TO.
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The basic elements of a form are called :

(A) objects (B) table

(C) record (D) controls

TF B & JOVE ETd HEAn ¥

(A) m (objects) ' (B) W (table)

(C) P (record) (D) &HZeE (controls)

To make a database password protected in MS Access :
TIUE TR & SIERE § ugad s & foe w7
(A) Insert — Security — Set database password

(B) Tools — Security — Set database password

(C) View — Security — Set database password

(D) Data — Security — Set database password

The devices used to obtain a printed matter into digital form, and digital matter into printed
form respectively are,

(A) Scanner and Printer (B) Printer and Scanner

(C) Plotter and Printer (D) Printer and Plotter

fF 88 g faw o1 T @ R w0 & qun Rew fas o1 2o # =9 3@ &9 & @A
& foe yga SusTe maan: ¥,

(A) @ T Br=x (B) = 3 @

(C) @ 7 X (D) fr=x 7 WX

The electric pulse generated by system clock is called as

(A) Click (B) Cycle (C) Tick (D) Hertz
% fem (sorel) = E sa= g (@) v () & s e ¥ -
(A) frm (B) w¥Ew ©) fo= (D) &«

An Industry Standard designed to standardize the connection of computer peripherals to
computers, both to communicate and to supply electric power is,

(A) IEEE Standard (B) ASCII

(C) USB (D) Peripheral standards

TR & UG ST 9 FYX & 99 Gy Wi s ao ¥9R & fog 9 fga afe
# oo & R oftrafer SEm E T E

(A) IEEE 8& (standard) (B) ASCII
(C) USB (D) UHIE A& (standards)
== 26 ' [PT.O.
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How many symbols does the hexadecimal system use ?

Wregremurd) (RFARRATR) qorel R wdta! (Riew) &1 Svam & ¥ 7

(A) 6 (B) 10 (©)

To convert a decimal number into octal, we do
(A) divide decimal number with 8
(C) divide decimal number with 16

16 (D)

AT TR H HEd § IRARTT FE & M0, '

(A) M@ T=T F 8 H WA
(C) Mqoe =T 7 16 &1 9O

The hexadecimal subtraction of (1056),¢ from (A427),4 results in

(A427),6 ¥ | (1056),, eTfam vsfa & @ergd | S ¢

(A) (A3Bl) (B) (9331)4 ©)

The term gigabyvte refers to :

(A) 1024 byte (B) 1024 kilobyte (C)
Armarge % TS B ¥

(A) 1024 a3 (B) 1024 fyearsz  (C)

Processed data is known as :

(A) Facts (B) Records ©)
wafE 321 9ET 9
(A) wrE (B) Ry ©

2's complement of (1000), is
(1000), & 2 & (& &
(A) 0001 (B) 0101 (©)

Software agents are also known as :

(A) Transagents (B)
(C) Blizzards (D)
AT THE § He AT E |

(A) Tz (Transagents) (B)
(C) =Ew (Blizzards) (D)

E o 27

(3711)46 (D)

1024 hexabyte (D)

1024 TF@Egz (D)
Information (D)
THWHIH (D)
0111 (D)
Knowbots

Softbots

FEza (Knowbots)
HIwZSIZE (Softbots)

Suraku Academy | Jaipur | 9782120102
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(B) 3w T=T & 8 @ Y
(D) Wywwr T=wT & 16 & T

(B) multiple decimal number with 8
(D) multiple decimal number with 16

(93D1),4

1024 megabyte

1024 BEIgET

Data

1000

[P.T.O.



140 Two statements are followed by two conclusions I and II. You have to take the two given
statements to be true, disregarding the commonly known facts and then decide which of the
given conclusions logically follows from the two given statements ?

Statement :

(i) All pens are pencils

(i) All books are pencils

Conclusions :

I: All pens are books

I : Some books are pens

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Both conclusions I and II follow
(D) Neither conclusion I nor II follows
T FuAl H om I Frapd [ Fen 11 R T ¥ 1 g A o gen ¥ ofaY g X o )
HYA B TF GAF | Y 79 B¢ fF Re 1 el § @ #F @1 Bftea w9 F R s |
g forr mn ¥

YA

() wN wed, ofwE ¥

(i) TN fpad, A T

fAery -

[: ooft oo fpae & |

I1: P fhae, sag & |

(A) Haw fred [ fream ¥ |

(B) heaw fred 11 Praeran & |

(C) e | o 11 S Fyaerd ¥
(D) FTEFHE [T A Prverar ¥ |

141 Which one of the following is not an argument ?
(A) If today is Tuesday, tomorrow will be Wednesday.
(B) Since today is Tuesday, tomorrow will be Wednesday.
(C) Ram is not at home, so he must have gone to town.
(D) Ram insulted me so I punched him in the ear.
Pefafea gl s @ I R gfm & & ?
(A) TR A HATEE ¥, T F@ FUAK O
(B) €% A< H@aAX &, F@ FUA T |
(C) T ax W T8 ¥, T & e & T e
(D) T J g9 aitya foran, sAfQ A9 I8 W T wEen T o

36] wiu 28 [P.T.O.
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In the given diagram circle represent police officer, square represent strong men, triangle
represent tall men. Which region represent pollice officer who are strong but not tall ?

Ra m omw ¥ gu gfve sl B wefim st &, = afmareh onedt B wefim s
¥, g = onadt & wefim &t ¥ a9 w1 &9 gfve aferd Y f6 aimaneh ¥, Ty
w8 ¥, & wfia s ¥?

s

%

5

Ay 1 (B) 2 <€) 3 (D) 4

Seven persons X, Y, Z, P, Q, R and S are sitting around a circular table facing the centre but
not necessarily in the same order. Q is fourth to the left of Y. P is third to the right of X,
Y is to the immediate right of X. Z is fourth to the right of R. R is not an immediate
neighbour of P. Who is second to the left of S ?

d @ X, Y. Z,P,Q, R T4 S UF JAGK 280 & H% Bl A @ &L I M 33 ¥
frgomams i@ amdt 1IQYF s sk d At 1P, X & T o & dwa
I XFIBTA ot 1 ZRETA A A dr ¥ IR, P & S5 vy 76 ¥ |
SFTFTN AU IAE ?

A Q (B) R <€ X D) Y

H is richer than J;

M is richer than P;

L is as rich as J;

A is richer than H.

What conclusion can be definitely drawn from the above statements ?

(A) J is more poorer than P (B) M is richer than A
(C) P is richer than L (D) L is poorer than H
H, J & oMt &,

M, P & ol &;

L, ] fram & ot &

AHR T | -

Ivge oAl & Fiftge v | FaifRa e s g6t amn fofg & -
(A) 1, P¥ 3fts miw % (B) M,A® ot ¥
(C) P,LA amiix ¥ D) LLHATE }

[PT.O.
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Find out suitable vein diagram from A, B, C and D.
Vegetables, Potato, Cabbage

A,B,CT D¥ ¥ IfIq a9 9@ &1 999 &L |

gfeTar, o, garmsE
(A) (B)
O
©) (D)
O O

If a rectangle were called a circle, a circle a point, a point a triangle and a triangle a square,
the shape of a wheel is

(A) Rectangle (B) Circle (C) Triangle (D) Point
it amaa B g9 FE TR, g9 B K, ag B g g Bege @ o w5 IR G 9% @
HTHT BN —

(A) (B) 9 (C) P (D) R

A statement is followed by two assumptions I and II. Consider the statement and decide
which of the given assumptions is implicit.

Statement : We should use Khadi clothes.
Assumption : '

[ :  Khadi clothes are not harmful for health.

II : Khadi clothes are cheaper than other clothes.
(A) Only assumption I is implicit.

(B) Only assumption II is implicit.

(C) Both assumptions I and II are implicit.

(D) Neither assumption I nor II is implicit.

@ HUF & 9 A Q@ [ e 11 a1 ) sere ot fRen &Y qun @ R s S
|1 qafgae ffea &

FYF : T WE) IEN B IYGRT ST AR |

WA

[: W) o= @R & fou ofers T8 € |

I: @) I 39 q& § g € |

(A) Fa@ q@ga [ ffea &

(B) ¥aw@ qargu I ffea &

(C) qatgar I qan I 3 ffea ¥

D) T qEAIE T énFRa

=k 30 [PT.O.
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Four friends are sitting in a square. C is right to B and A is left to B. Who is right to C ?

MAT G A ARENBFIRACIATIBFIT ARCSE T A 87
(A) B (B) D C) A (D) C

Choose the correct mirror image of figure F from amongst the given four alternatives figures
(A), (B), (C) and (D).

@ mq A Jsfeas sl (A), (B), (C) dun (D) & & agfd F & w8 wuw wfafss &1 9a
FHfr

4| |APPP

Figure F / amfa F (A) (B) (©) (D)

A question and two statements numbered I and II are given below it. You have to decide
whether the data provided in the statements are sufficient to answer the question.

How many sons does X have ?

Statement :

I: E and W are only two brothers of P.

Il : P is the only daughter of Q and X.

(A) Only statement I is sufficient.

(B) Only statement II is sufficient.

(C) Both statements I and II are necessary.
(D) Both statements I and II are not sufficient.
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Grei fapeq wem e | geed G =0 fewrow @ I fawrey wwr Riceul famey wEm
1 C 31 B 61 C 91 C 121 D
2 A 32 D 62 C 92 | B 122 C
3 B 33 A 63 A 93 D 123 A
4 A 34 C 64 B 94 D 124 D
5 A 35 A 65 C 95 C 125 A
6 A 36 D 66 A 96 B 126 B
7 B 37 A 67 C 97 B 127 B
8 C 38 D 68 A 98 C 128 D
9 Delete 39 A 69 D 99 C 129 B
10 A 40 A 70| C 100 C 130 A
11 C 41 A 71 | A 101 C 131 B
12 C 42 B 72 D 102 D 132 C
13 A 43 C 73 A 103 C 133 C
14 A 44 D 74 D 104 B 134 A
15 B 45 | C 75 C 105 A 135 D
16 A 46 A 76 C 106 B 136 D
17 C 47 D 77 | Delete 107 B 137 C
18 A 48 D 78 A 108 A 138 D
19 C 49 B 79 A 109 C 139 D
20 D 50 B 80 C 110 | C 140 D
21 B 51 C 81 B 111 | A 141 C
22 B 52 B 82 B 112 | D 142 B
23 D 53 A 83 D 113 D 143 A
24 B 54 | C 84 | A 114 A 144 D
25 B 55 D 85 D 115 C 145 B
26 C 56 B 86 B 116 A 146 D
27 C 57 A 87 | B 117 C 147 A
28 B 58 D 88 D 118 A 148 B
29 A 59 D 89 A 119 C 149 D
30 C 60 | A 90 D 120 B 150 C
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